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Why ? What's the point?

1) We represent livea waps f : R"-> I

in
terms of matrix-vector multiplication.

There is a mxn
Matrix A such

that f(x) = Ax for all x in 1R".

A = [f(e) flee) ... f(en)]
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There are matroces A m x y

B kxm

f(x)= Ax

g(y) = By

Consider g(f(x) (gof)(x)
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Upshot : If f(x)= Ax

g(y)= By
got makes sense

Than (gof)(x) = BAx

Matrix multiplication corresponds with composition
of functions
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A = 10080e B = (0000ie
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A (i) = 1008]( ) = (i) = +a
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A= [ii] B = [8i]

AB = (3, 4] [ii]
BA = [38] "Matrix multiplication is

not commutative"

Goodnaws A(B +R) = AB +AC

A(BC) = (AB) C ABC

(A = A(c) = VAC


